
Mathématique en 1S3 Fonctions et suites octobre 2008

• This may be done in French and/or English.
• Give-it back november 10st
• hotline open on fries-day !

Join the gang and take your broom !
Halloween is coming soon !

A creepy exercise. . . Bewitching numbers

Homework

To bewitch a number, compute the quotient of three times
the number minus 5 by the number plus one and justify
your answer. . . You’ve got it ? Crazy, isn’t it ?

Rule

Computing
1/ Bewitch the number 2 once and analyse carefully the

computation. Do it again with the number 5.

2/ Call x the starting number and f (x) the formula used
for bewitching a number. Find a formula for f (x), de-
pending on x. By the way, writing such a formula just
defines a function f .

3/ In fact, to bewitch the number 5 is to calculate :
f ( ) ? Bewitch the number 5 several times in a row.
Write down the computations. You can use this pre-
sentation :

5 7−→ . . . 7−→ . . . 7−→ . . . 7−→
4/ Bewitch the number (−2) several times. What do you

notice ? (What seems to happen ?)

5/ Consider :
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• Write the different steps of the transformation.
• Simplify f
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as quotients of li-
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. Does the result match
with what you expected ?

6/ What happens to a number bewitched 2 008 times ?

7/ Bewitch the number 3. Then bewitch twice the num-
ber 3.
• What happens if you try to bewitch the number 3

three times in a row ?

• Do you think you can bewitch any number ? Explain
and justify your answer.

• Do you think you can bewitch any number twice or
three times ? Explain and justify your answer.

A horrible curse
Once upon a time, in the highest tower of a dark misty
castle, a malicious wizard put a curse on numbers :

By the strength of my spider and toad parchment bill,
no number will ever stay unchanged and still. . .

Prove that this curse is efficient on any poor little real
number x different from −1, that means : x being any real
number different from −1, f (x) is always different from x.
Hint : prove that

(
x − f (x)

)
(x +1) = 4+ (x +1)2 , and then

conclude.
Graphing
Let (O; I ; J) be an orthonormal coordinate system. Bewit-
ching a number can be shown on a graphic.
Let U0, U1, U2, U3, . . . Un the sequence of num-
bers with : Un+1 = f (Un) for each non negative integer n
where f (. . .) is the function for bewitching a number.

1/ Construct the graph of the function f

2/ The 1st number is U0 = 7 ; put U1, U2, U3 and U4

on x−axis using the graph of the function f and the
straight line given by the equation y = x.

3/ What do you observe with U4 ?

Ensorceler un nombre, c’est calculer le quotient de la différence du triple de ce nombre et de 5 par la somme de ce nombre et de 1.

Calculs
1/ Ensorceler le nombre 2 et analyser le calcul. Puis recommencer avec

5.

2/ On appelle x le nombre de départ. Exprimer, en fonction de x, la for-
mule f à appliquer à ce nombre pour l’ensorceler.

3/ En fait, ensorceler le nombre 5 trois fois revient à calculer f (. . .). En-
sorceler le nombre 5 plusieurs fois de suite. Écrire les calculs. On peut
schématiser les ensorcellements successifs par :

5 7−→ . . . 7−→ . . . 7−→ . . . 7−→
4/ Ensorcelez le nombre −2 plusieurs fois. Qu’observez-vous ?

5/ Exprimer f ( f (x)) puis f ( f ( f (x))) puis f ( f ( f ( f (x)))). Simplifier les
différentes étapes des transformations sous forme, si possible, de
quotients de fonctions affines. Le résultat obtenu est-il en cohérence
avec vos observations ?

6/ Qu’advient-il d’un nombre ensorcelé 2 000 fois ?

7/ Ensorceler le nombre 3 une fois, puis deux fois.
• Qu’arrive-t-il si l’on tente d’ensorceler trois fois ?
• Peut-on ensorceler n’importe quel nombre réel x ?
• Expliquer et justifier les conclusions.

Une épouvantable malédiction
Dans la plus haute tour d’un brumeux castel,

il était une fois un méchant mage
qui jeta un sort aux innocents nombres réels.

Par le pouvoir de mon parchemin de crapaud,
Jamais vilain réel ne changera de peau !

Ainsi, oncques nombre réel ne put changer par ensorcellement : quoi
que l’on fasse, f (x) est toujours différent de x. Expliquer pourquoi. Sug-
gestion : Pour tout nombre réel x, x different de −1, prouver que l’on a :
(x − f (x))(x +1) = 4+ (x +1)2 , puis conclure.
Illustration graphique
L’ensorcellement d’un nombre peut s’illustrer graphiquement par la re-
présentation des termes de la suite U définie par Un+1 = f (Un ) pour
tout entier naturel n où f est la fonction d’ensorcellement trouvée à la
question 1.

1/ Dans un repère, représenter graphiquement la fonction f .

2/ Prendre U0 = 7 et construire U1, U2, U3 et U4 sur l’axe des abscisses,
à l’aide de la droite d’équation y = x.

3/ Qu’observe-t-on pour U4 ?
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